1. The functior(%gx) =-356x+ B)nodels the
length of a sparkler x seconds after it is lit.

What is the meaning of the y-intercept of the

| function?

(lgthe initial length of the sparkler )

B. the final length of the sparkler
C. the rate at which the sparkler is burning

D. the amount of time it will take the sparkler
to burmn

2. The total cost, in dollars, of membership in
a fitness center is given by the function

(cm) =30m+@

m is the number of months)a person is
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(A y =190x+ 1700 )

3 Amanda s new caflease costs he( $190
(24 months)She p;—:_'
nd keeps track each
mon of the total amount she has spent.

hich function could represent the total
amount of money Tracy has spent on her
lease based on the number of months, x, she
has paid?

B. vy =190(x + 1700)
C.y=(190 + 1700)x

D.y=1700x + 190

4. Describe the domain and range of the
graph.
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5. Which table below represents aILINEAR

function? How do you know?

Table #1

x |2 14 [17 |20

}1%“-! 1 [31 |43
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y |10,]4 6 |29 |34
ble #3

6 |8 [10 [12 [14

i, 11 76 |27 |26 |31
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7. What is the equation of a line that has a
slope of -2 and passes through the point

VY= =mX—X,)
ca)-= 7¢8)

Y-
+Q= =L
LAk i
V=gt

8. Two scooter companies have different
prices to rent scooters.

e The first company charges a $5 fee
e The second company charges $2

rented.

first company to be a better deal?
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plus $1 per hour a scooter is rented.

initial fee plus $2 per hour a scooter is

What is the{ minimum number of hours a Z
person would need to rent a sc B
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